Math 141

Midterm 1
February 28, 2019
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PLEASE COPY THE HONOR PLEDGE AND SIGN:

[ affirm that I will not give or receive any unauthorized help on this exam, and all work will
be my own.
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1. (8 points) Find the exact values:
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2. (8 points) Solve for ¢ in the interval [0, 27):

2sin 6 —sinf = 0.
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3. (8 points) Find a formula for the inverse f~'(x) where
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4. (12 points) Match the following curves to their equations.

Curves:
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Equations:
1) y=|z| SYy=e*-2 9} y=2cosz
2)y==2z=-1|-1 6.) y=—e" -2 10.) y = cos(2z)
J)yy=1—|z-1| 7)y=e" =1 11.) y = —cos(jr)
4) y=3lr+1] -1 8)y=Inx 12.) y = =1 cos(3z)
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5. (10 points) Let f(z) = v3z + 1 and g(z) =

(a) Find (g o f){z) and its domain.
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(b) Find (fogo f)(z).

(#4246 = #( g(#09)
=/ g (B=D)
= (@)

= l

Szt

Answer:

(g £)E) = \[ okl




6. (8 points) Find the exact values.

(a) log(1) = O sWnce 70 = |

(c) logz(100) + log;(0.81)
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7. (10 points)

Deduce the following quantities from the corresponding graph. If the limit does not exist or
the function is not defined, write DNE.
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Circle T for true or F for false:
The function is continuous at x = 2. T @
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8. (15 points) Find the following limits. Show all work. Simplify your answer.

If a limit is infinite, say whether it is 4+o00 or —co.
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9. (9 points) Find all vertical asymptotes of the following function. Show all work and

justify your answer.
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10. (12 points) Let p and r be real numbers, and

472 + 1 ifz <1
h(z)={ 2+p ifz=1
322 —2¢ 471 ifz>1.

For which values of p and r is h(z) continuous at = 17 Justify your answer.
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EXTRA PAGE. You may use this page if you run out of space. Be sure to label your
problems on this page and also include a note on the original page telling the graders to look
for your work here.
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